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. Find / 02025 4Q

. Find the derivative of /sin(w!7 + 2025)

: Evaluate/ 1 + arctan'!(2025¢) dt.

—T

. Evaluate / ;1 dz.
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. What value of z in (0, 0o) minimizes 2* 4+ — 7
T

- Find lim 272e*% (cos(3z) — 1).
T—

. A triangle has vertices (0,0), (1,0) and (a,a?® + 3a + 2025) for some real number a.
What is the minimum area this triangle can have?

. Suppose that for all real numbers z, the function g (z) satisfies / g (t) dt = 32° + 2.
0
Find ¢ (1).

. Find / ((z*)*)° du.

. Evaluate Z 2021%2025*.
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